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Yfiber(start)=10
Yfiber(end)=65



v lo
s [

km
/s

]

s [pixel]

vlos[km/s] =
a� d

1 + (s[pixel]/c)b
+ d

<latexit sha1_base64="r0X/SGva9GK1dYeThr2e2y0wHYo=">AAACGXicdZDLSgMxGIUzXmu9VV26CRahUmxnqqAboejGZQV7gelYMplMG5rMDEmmWIZ5DTe+ihsXirjUlW9jehHq7UDgcM7/k+RzI0alMs0PY25+YXFpObOSXV1b39jMbW03ZBgLTOo4ZKFouUgSRgNSV1Qx0ooEQdxlpOn2L0Z9c0CEpGFwrYYRcTjqBtSnGCkddXLmoJO0BYcslKnd52XpnLV9gXCCDr00sYoFaUf0ljCnjA9u3LTodXJ5q2SOBc1f5qvKg6lqndxb2wtxzEmgMENS2pYZKSdBQlHMSJptx5JECPdRl9jaBogT6STjn6VwXyce9EOhT6DgOJ3dSBCXcshdPcmR6smf3Sj8q7Nj5Z86CQ2iWJEATy7yYwZVCEeYoEcFwYoNtUFYUP1WiHtIg1EaZnYWwv+mUSlZR6XK1XG+ej7FkQG7YA8UgAVOQBVcghqoAwzuwAN4As/GvfFovBivk9E5Y7qzA77JeP8E2AqgKg==</latexit>

sfolding=c

vfolding=(a+d)/2
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s (folded) [arcsec] = {s (folded) [pixel]} x (0.5 arcsec/pxl)
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